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 2025קיץ א מועד   581שאלון  –תשובות סופיות 

  א. .1
40𝑣

40+𝑣
 

 קמ"ש 40ב. 

 (3ג. מקרה )

 

𝑎3א.  .2 = ±8 

  המנה, ב. הוכחה
1

4
 

  (1ג. )
1

16
 

    (2)  𝑘 > 0 

𝑘ד.  = 5 

 

𝑃  א. .3 =
2

5
 

  ב.
16

96
 

ג.  
4

9
 

ד.  
12,597

160,000
≈ 0.0787 

 

 א. הוכחה .4

 ב. הוכחה

 ג. הוכחה

 3.6𝑆ד. 

 

𝐶𝑂  (1א. ) .5 =
𝑟

sin(𝛼)
 

     (2)  𝐴𝐶 =
𝑟𝑐𝑜𝑠(𝛼)

sin(𝛼)cos⁡(2𝛼)
 

αב.  = 30° 

𝑟  ג. = 5 

𝐵𝐸  ד. = 10√3 − 14.4 
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𝑥  (1)א.  .6 < −𝑎, 𝑥 > 𝑎 

𝑥 אסימפטוטות אנכיות: (2)      = 𝑎, 𝑥 = −𝑎 

𝑥)עבור  אסימפטוטות אופקיות:           → ∞) - 𝑦 = 𝑥)עבור ,   1 → −∞) - 𝑦 = −1 

 ב. הוכחה

𝑥ג. תחומי ירידה:  < −𝑎⁡, 𝑥 > 𝑎 

 ד. 

 

 

 

 

 

 

 

 

 

𝑥ם ירידה: תחו (1ה. ) < −𝑎  :תחום עלייה ,𝑥 > 𝑎 

 Iגרף  (2)     

𝑎ו.  = 9 

 

 IIא. גרף  .7

,⁡𝑚𝑖𝑛(0,0) (1ב. ) 𝑚𝑎𝑥 (
𝜋

2
,
1

2
)⁡ , 𝑚𝑖𝑛 (

3𝜋

2
, −

1

2
)⁡⁡ , 𝑚𝑎𝑥⁡(2𝜋, 0) 

)ג. 
𝜋

6
, 0)⁡⁡ , (

5𝜋

6
, 0) 

 (1ד. )

 

 

 

 

 

    (2) 𝑚𝑎𝑥(0,0.4)⁡, 𝑚𝑎𝑥 (
𝜋

2
, 0.1) , 𝑚𝑎𝑥 (

3𝜋

2
, 0.9) 

          ⁡𝑚𝑖𝑛 (
𝜋

6
, 0) , 𝑚𝑖𝑛 (

5𝜋

6
, 0) , 𝑚𝑖𝑛(2𝜋, 0.4) 
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𝑥א.  .8 = 1⁡, 𝑦 = 9 

𝑦ב.  = −2𝑎𝑥 + 5𝑎 + 9 

  ג.
9(𝑎+3)2

4𝑎
 

𝑎 ד. = 3 


